म्मू तं पूर्व जवकृत्र केल्द्रीय विद्यालय संगठन

केन्द्रीय विद्यालय राजनांद्रगाँव (छ.ग.)

KENDRIYA VIDYALAYA RAJNANDGAON (C.G.) पालीटेकनिक कॉलेज के पास, पेंड़ी

Near Polytechnic College, Pendri

दिनांक: 18.09.2020

जिला – राजनांद्रगाँव (छ.ग.) ४९१४४१ दूरभाष क्र. ७०६७५५७१८२

DISTRICT – RAJNANDGAON (C.G.) 491441 Ph. No. 7067579182

Email: rajnandgaonkv@gmail.com Website: www. rajnandgaon.kvs.ac.in

फा.क्र.**3**-7 के. वि. राज./अन्य/**2019-20**/

Minutes of the First VMC Meeting held on 18.09.2020

The First VMC meeting for the session 2020-21 was conducted on 18.09.2020 in the Kendriya Vidyalaya Pendri premises.

The meeting began with invocation and Principal Sh. E. Rangaswamy welcomed all the VMC Members.

AGENDA POINTS WERE DISCUSSED IN DETAIL

1. ACADEMICS

Result for the session 2019-20

A. Class I to VIII

PASS % : 100%

B. Class IX

| Appeared | PASS | PASS % |
|-----------|-----------|--------|
| <u>50</u> | <u>50</u> | 100 |

C. Class 11 (Science)

| <u>Appeared</u> | PASS | PASS% |
|-----------------|-----------|-------|
| <u>36</u> | <u>36</u> | 100 |

D. Class 11 (Commerce)

| Appeared | PASS | PASS% |
|----------|------|-------|
| 27 | 27 | 100 |

E. Class X

| Appeared | PASS | PASS% | Compartment |
|----------|------|-------|-------------|
| 41 | 38 | 92.68 | 03 |

F. Class XII

| Appeared | PASS | PASS% | Compartment |
|----------|------|-------|-------------|
| 25 | 22 | 88 | 03 |

1. Online classes:

All the teachers (From II to XII) are taking online classes through Gsuite(google meet and google classroom), whatsapp and youtube. Despite some difficulties, teachers and students are teaching and learning through the online medium. Amid the pandemic also teachers are not leaving the hands of their students.

2. Measures taken for prevention of Covid-19 in Vidyalaya premises:

The Vidyalaya is successfully following the guidelines (SOP)provided by the State and Central Government.

- A. Thermal screening is done at the entrance gate of the school.
- B. Social distancing and wearing of mask has been followed compulsorily.
- C. Santizer bottles have been placed at the entrance of the school and in the school premises.

3. Permission to students to visit/meet teachers from 21/09/2020 onwards in the Vidyalaya as per MOH order:

As per MOH Order Students will be allowed to visit the school and meet the Teachers with the consent of their Parents. Suggestions and approval is needed from the committee in this regard.

Class XI (Commerce Stream) has been started and running successfully with 25 Students from KV Rajnandgaon and other Vidyalaya got admission and upgraded to class XII Commerce during this session.

Ananya Rushe of Class XI visited Bhuj under KVS Seema Darshan Program to interact with Army personnel posted in the Indian Borders.

Mast. Chitrakant Verma of Class XI participated at Dehradun for National Level Science Congress.

This Vidyalaya was the venue for SGFI (School Games Federation of India) U-14 Basket ball Girls and Boys event and participated at Digvijay Stadium Rajnandgaon,which is organized by Chhattisgarh State.

02 State Level NCC Camp was organized in this Vidyalaya in which 1000 NCC Cadets from different schools and colleges of C.G. state participated.

Kendriya Vidyalaya Rajnandgaon organized Cluster Level KVS "Ek Bharat Shreshtha Bharat" program of Durg cluster in which 08 KVs participated and KV Rajnandgaon secured first position in Theatre, and On the spot painting and Third position in Artefacts.

The Principal mentioned that CBSE Class X and Class XII Examination were held in the month of February and March 2020. To achieve 100% result with Quality i.e. 77 PI in Class XII and 78 PI in Class X, 03 Pre Board exams were conducted. In both the classes, Students achieved 100% Result in pre board exams.

INSPECTION OF THE VIDYALAYA:

Honble Deputy Commissioner Ms. Chandana Mandal visited twice to this Vidyalaya and gave suggestion for academic improvement of the students.

Dr. S. Nalayani, Assistant Commissioner conducted two Panel Inspection with team of Principals/ Vice Principals / HM from various vidyalayas of Raipur Region and interacted with the students and suggested for academic improvement.

2. OPENING OF NCC UNIT

NCC unit has been started in which 25 Girls and 25 Boys are enrolled i.e. total 50 students and regular classes are going on.

3. STARTING OF SPC

Special Police Cadet (SPC) started in which 83 students of Class VIII are enrolled. Regular training is being given.

4. PUBLICATION OF VIDYALAYA MAGAZINE

Magazine department of this Vidyalaya has collected various write ups in Hindi, English, Drawing and Painting and various articles to publish in the **Vidyalaya Patrika** for the first time in this KV.

5. CELEBRATION OF ANNUAL SPORTS DAY

Annual Spots Day was celebrated on 17.12.2019 in which Hon'ble member of Parliament Mr. Santosh Pandey blessed the occasion as the Chief Guest and distributed awards/certificates to the winners.

6. CELEBRATION OF ANNUAL DAY

Annual Day celebration of this Vidyalaya was planned to conduct in the month of April 2020 which is **First Annual Day Function** so far but due to covid-19 it was postponed.

7. <u>VAN MAHOTSAVA (PLANTATION OF TREES)</u>

Around 350 saplings were planted in the school campus and a Gardener has been appointed for taking care of these plants.

8. ADMISSION

The Principal briefed the members about the KVS admission guidelines 2020-21 and the schedule to be followed. The admissions were made strictly by following the Admission Guidelines (2020-21) upto 31st August 2020. Further he has explained the admissions of wards of parents belonging to category-I can be done upto 30th November 2020 with the permission of the Chairman, VMC, KV Rajnandgaon.

I am happy to inform the committee that the Chairman VMC sent the proposal of additional sections for class I and class IV to IX one section each through D.O letter. Positive response is awaited from the commissioner KVS HQ New Delhi and the Deputy Commissioner, KVS, RO, Raipur. The details of fresh admissions with effect from 1st April 2020 to 31st August 2020 is as follows:-

1. Class I (Section A and B): 84

2. MP Quota: 03

3. VMC Chairman Quota: 02

4. Sponsoring agency Quota: 10

(Class II and above)

5. Class 11(Commerce): 17

6. Class 11(Science): 12

7. HRM Quota: 03

Total 131

9. WALK IN INTERVIEW

Walk-In-Interview was conducted on 29.02.2020 for the post of PGT's (Economics and Commerce), TGT(Social Science, Hindi, English, Mathematics, Science, Sanskrit), PRT, PRT Music, Coaches(Yoga, Sports), Staff Nurse for the session 2020-21.

10. PROVISION OF SOLAR PANEL FOR NEW SCHOOL BUILDING

Electricity bill of KV School building at an approx average of Rs. 50.000/- per month has been paid so far. Being a small Vidyalaya, it is difficult to manage this huge amount as electricity bill. Hence, the Principal contacted CREDA and received estimate for installation of 5 KVA Solar Panel. The committee requested the Chairman VMC to arrange necessary fund for the same.

11. PROVISION OF OUTDOOR GYM FOR NEW SCHOOL BUILDING

The Principal submitted provision for outdoor Gym to the former VMC Chairman and requested the Chairman VMC to provide the same for the betterment of the students.

12. PROVISION OF CHILDREN PARK FOR NEW SCHOOL BUILDING

The Principal submitted provision for Childrens' Park for Primary Children to the former VMC Chairman. Since it is the new school building in new campus, adequate infrastructures are not available for playing. Hence committee requested the Chairman VMC to provide the same for the betterment of the students.

13. **PURCHASE**

The committee has given approval for following purchases for the Vidyalaya.

a. Primary Section:

- 1. 02 Interactive Board,
- 2. Furniture for Class III B and primary wing
- 3. 01 Smart TV for CMP
- 4. One Xerox Machine (RISO)
- 5. White Board

b. Music Department:

- 1. 01 Smart TV for Music Dept.
- 2. 01 computer set

c. Office and Principal Chamber:

- 1. Air Conditioner (02 Number)
- 2. 80 Inch LED TV for CCTV Camera
- 3. 16 number of camera with CCTV setup.
- 4. Public Announcement System
- 5. Visitor's chair

d. Exam Department:

- 1. RISO copier Machine,
- 2. Photocopy Machine
- 3. Computer with Printer,
- 4. Computer set

e. Display Board

As per the suggestion during DC Visit, Display board in all the departments should be made available.

f. Work Education Department:

8 Long tables (08 feet in length and 4 feet height), 60 Chairs, XLR Microphone, Display board, (2 numbers each of 10×5), 02 RO System, 01 Computer set, Internet connection.

g. Medical Department:

One Refrigerator, One patient bed, one cot bed, bed sheet, pillow, one Wheel Chair

h. Art Department:

Drawing table(single table) (60 in numbers), Chairs (60 in numbers), Dari (large size), One Almirah

i. Library Department:

Book Case (04 numbers), Library Chair (60 nos) Magazine Stand (02 stand), Display board with glass (02 in numbers), Air Conditioner (04 in numbers), Library books and Magazines), 04 Desktop computer with LAN connection, Library Cabin.

j. Computer Department:

Desktop Computers (40 nos.), Display Board, White Board, Air Conditioners (04 – two for each lab), Online UPS (02 numbers), Digital Projector (02 nos.), Chairs (80 in numbers), Cabin for Computer I/c, 04 Steel Almirah, Computer Table with Glass for teacher, Two moving Trolley, Lan Connection for Computer Lab.

| k | . Sports Department: High jump bar, Table Tennis Table |
|-------------|--|
| l. | Lab Equipments (Physics, Chemistry, Biology): Equipments setup required for new labs of Physics, Chemistry and Biology |
| M | . Language Lab: |
| re | 01Computer set and 01 LCD Projector with internet connection,02 voice corders,20 sets of table and chair. |
| | approval for revised estimate of budget 2019-20 and budget estimate or 2020-21: |
| 1 | 5.Damage of sign-board of Kv Rajnandgaon and it's pending issue: |
| <u>16.A</u> | any other suggestions by the members |
| _ | |
| | |

Approval required for purchase of following items along with the approximate value for the purchase of following items as per the above requirement.

| SN | Name Of Item | No. of item | Unit Cost | Total cost | Approval Required |
|----|----------------------------------|-------------|-----------|----------------|--|
| 1. | LCD Projector with wall mount | 3 | 35,000/- | 1,05,000 | red i |
| 2. | Furniture for 52, | 150 | 4000 | 6,00,000 | |
| 3. | Singlé Table | 100 | 2000 | 2,00,000 | e de la composición dela composición de la composición de la composición dela composición dela composición dela composición de la composición dela comp |
| 4. | Single Chair | 100 | 1500 | 1,50,000 | |
| 5. | Green Board | 10 | 5000 | 50,000 | |
| 6. | Computer Table | 06 | 6000 | 36,000 | |
| 7. | Long Table 8x4 | 04 | 7000 | 28,000 | |
| 8. | Air Conditioner | 08 | 40000 | 3,20,000 | |
| 9 | LED TV 80 inch | 02 | 40000 | 80,000 | |
| 10 | Photocopier | 02 | 150000 | 3,00,000 | |
| 11 | Running rack 2.5 x 3 | 50 | 1000 | 50.000 | |
| 12 | Chairs for Students | 180 | 400 | 72.000 | 7100 |
| 13 | XLR Microphone | 01 |) Glass | liv shal paper | 9) |
| 14 | Display Board | 15 | 3000 | 45,000 | 77.1 |
| 15 | RO System | 02 | 15000 | 15,000 | ulo: |
| 16 | Refrigerator | 01 | 15000 | 15,000 | |
| 17 | Medical Cot | 02 | 9000 | 9,000 | |
| 18 | Drawing Table with Drawer | 15 | 4000 | 60,000 | |
| 19 | Book Case | 04 | 7000 | 28,000 | |
| 20 | Library Books | | 60000 | 60,000 | |
| 21 | Online UPS 5.0 KVS | 02 | 200000 | 2,00,000 | |
| 22 | Desktop Computers | 60 | 35000 | 21,00,000 | |
| 23 | Networking for Labs and dept | 02 | 50000 | (100000) | |
| 24 | Chairs for Staff | 40 | , 1000 | 40,000 | |
| 25 | Table Tennis Table | 01 | 25,000 | 25,000 | |
| 26 | Lab Equipments Phy, Chem, Bio | | 3,00,000 | 3,00,000 | |
| 27 | PA System | 01 | 60,000 | 60,000 | |
| 28 | Eclassroom | 05 | 40,000 | 20,00,000 | |

Page 6

First VMC Meeting held on 18.09.2020

| | Members of VMC | Signature of Members who attended the meeting |
|-------|---|---|
| i. | Shri TOPESHWAR VERMA (IAS) Chairman VMC, KV Rajnandgaon & District Collector, Rajnandgaon | . |
| ii. | Shri C. L. MARKENDE Nominee Chairman VMC, KV Rajnandgaon & Upper Collector, Rajnandgaon | |
| iii. | Dr. B.N. MESHRAM Eminent Educationist Principal, Digvijay College, Rajnandgaon | |
| iv. | SHRI SATENDRA KUMAR SAHU Eminent Educationist Principal, | |
| | Govt ITI, Rajnandgaon | |
| v. | SHRI MOHAN HARKARE Retd. Music Teacher Rajnandgaon | |
| vi. | Mrs. Anita Saha Lecturer Dept. English Digvijay College Rajnandgaon | |
| vii. | Dr. B. L. kumre Eminent Medical Doctor Rajnandgaon | |
| viii. | Mr. Leelashankar S. Thakur Parents Representative Rajnandgaon | |
| ix. | Lt. Col. R. K. Agrawal Co- opted Member Rajnandgaon | |
| х. | Ranjeeta Maravi Teacher's Representative Rajnandgaon | |
| xi. | Mr. E. Rangaswamy Member Secretary Principal, KV Rajnandgaon | |
| I | Mr A K Shrivastava Chairman, CGEWCC, Raipur | |
| 1 | Mr Devendra Kumar Netam EE, PWD (Band R), Rjn | |